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1 Introduction

The V2X RRM test list was proposed in [1]. In this paper, we provide a further discussion on the test for interruptions on the V2X SL communication due to synchronization source change.
2 Test for interruptions on the V2X SL communication due to synchronization source change
This test is applicable for UEs that support V2X sidelink communication. And the purpose is to verify the requirements related to the interruptions on the V2X sidelink communication due to synchronization source change as below. 
· GNSS ( eNB
· SyncRef UE1 ( SyncRef UE2
· SyncRef UE1 ( eNB
· SyncRef UE2 ( GNSS
· SyncRef UE2 ( SyncRef UE1
· eNB ( GNSS

· eNB ( SyncRef UE1
Where, 
· SyncRef UE1 : SyncRef UE is synchronized to GNSS directly or in-directly
· SyncRef UE2 : SyncRef UE is not synchronized to GNSS directly or in-directly
The requirement is that the UE is allowed to drop V2V SL TX/RX for up to [1] subframe when synchronization source change is performed. However, it is not easy to verify how to drop V2X SL reception, so this test is to verify drop V2X SL transmission. In addition, there are 8 cases of synchronization source change to be verified, so it needs to  down-select to reduce practical testing number.
Therefore, we propose test setup to verify down-selected scenarios with one test.
· Test setup
This test simulates GNSS, SyncRef UE1 and SyncRef UE2.  These synchronization sources are switched on/off at different times during the test. And priority related to synchronization source is set to be highest with GNSS.  
· SyncRef UE1 : SyncRef UE is synchronized to GNSS directly or in-directly
· SyncRef UE2 : SyncRef UE is not synchronized to GNSS directly or in-directly
Before the start of test, the UE is expected to be synchronized to GNSS with highest priority. The UE is assumed to be transmitting data every 100ms and SLSS every 160ms.
The test consists of four successive time periods, with time duration of T1, T2, T3, and T5 respectively as Figure 2.1.
During T1, the UE is synchronized to GNSS, and eNB is powered on, and both  SyncRef UE1 and SyncRef UE2 are powered off.

During T2, GNSS signal is power off and the UE is expected to evaluate the GNSS to be unreliable.And, the UE will select eNB as synchronization source.

During T3, both SyncRefUE1 and SyncRefUE are powered on,  and the UE will select a higher priority SyncRef UE1 as synchronization source.

During T4, eNB and SyncRefUE1 are powered off, and the UE will reselect SyncRef UE2 as synchronization source.
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Figure2.1 : test setup for synchronization source change during 4 time periods
· Test Requirements

During T1,T2,T3 and T4,  synchronization source are changed 3 times and it means that UE is allowed to drop its V2X SL transmission up to 3 times, and up to 1sub-frame per source change duration such as T2, T3 and T4.

The rate of correct synchronization source change observed during repeated tests shall be at least 90%.
The test system will verify that the UE does  drop up to 1 subframe of its data or SLSS transmissions during the duration of T2, T3 and T4 respectively.
3 Conclusion
In this paper, we discussed the test setup and test requirement for interruption on V2X SL communication due to synchronization source change.  Based on the discussion, we propose as follows.
· Proposal 1: RAN4 consider test setup and test requirement in section 2 for interruption test on V2X SL communication due to synchronization source change.
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